Topic: Blood Relation
Time: 10min

Directions (1-2): & 1§ AAF FT CATAIEF LA X 30X A @ a1v weaAt & 3w
afre-

Ifg ‘AxB IAAA BH T Y

e ‘A + B’ AT ‘A, B T 4T &

afg ‘A + B’ 3ATA ‘A, B HT Teail &

afe ‘A- B AT ‘A, B & [T g

Q1. TSI A I8 TIIRT T F AT FE M, J fr AT &, w2 Reet F TI= 9T F47 31T
aifee?

T+K-L2M

(a) +

(b) x

() -

(d) =

(e) IT ar (a) AT (b)
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Q2. FeeT # RT 7T FFa=yr & IR W, Arfafl@a & § #la-971 grawy a7 82
J+KxL-M+N'?

(@K N&FTHS &

(b) J, M T gae &

(I, N gFag &

(N, LI g

(e) IS T wTET &
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Direction (3-4): fe=faf@d Iererl #1 tareTqde Ireaasr #Y aur A e geaf & 3w
QfsrTl

TH IRaGR A S, T, U, V, W, X 3R Y I1d G g, T & i shael AU E1 S,V A
faarfed g1 W, vV & ds81 8, V fFadhr aF darei g1 U, Y fr Brex sa ar g, ¥
3ifaarfed &1 X, S &l e 81 ot §,S it U &1 I gl

Q3.X, Y ¥ fF¥ Y&R Haftd &2
(a) 37heT

(b) 178

(c) AT

(d) sigeT

(e) 5Tt
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Q4. FFRf@T AT Flaw FTRar@?
(@u
(b) T
() X
(dyY

(e) 3T J Ig +TeT
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Directions(5-7): fF=iTaf@d AR T eaqd® sreaaer w3 3 AT e e weat &
I AT

P-Q&HIT P, QH Tar g
P+QHIT P, Q5T &
PxQ &I P,QHATATY

‘P+Q & HT P, QTS &

Q5. fr=rfaf@a & @ frwarT 37 8 6 ‘A, BFT AT 72



(aJA+C-BxK

() B+H-A+D
(c)B+G-A=+R
(A)B+TxA+E

(€) 373 & IS T
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Q6. faFrfaf@a & & fFawT 31 ¢ & P, J F1 dswrer @2
(@J+W-U-P
(b)PxG+]+A
(P-B=+]J+R
(P-T-]=+S

(€) 3T | IS et
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Q7.589% ‘B+C-S+R #R, B ¥ FH yoR grafeua g?
(a) 3T

(b) =&

(c) AFY,

(d) 318 @ FIg =Fer

(e) TR FAET TohaT ST FehelT
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Directions (8-9): PFaIfaf@d IaRY T e d® 3reaas Y AR AT o 7w weat &
3R difre-

P, M &T faT &, M St K &I §ieX 37 off &1 N, Z &1 qaae &, Z Sif L & dAsAeT g1 P &r
el & Hollel Toh G 3w G §1 X, N 1 [@eex g7 of g1 P, N & &F 81 K,
3ifaarfed g1

Q8. K, J A gt § aY N F TGl & J T oaaT F4T @) haT 87



(a) 85

(b) SEX 3T ol

(c) 3iehel

(d) e &1 forar S Fehar
(€) 373 | g =Tel
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Q9. X & TEH H L T UFa= FIATE?
(a) AFY

(b) =&

(ORE

(d) A

(e) RS AT TohaT ST Fehe
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Directions (10-11): feaifaf@a STererll &1 eATqde Irearst w3 a9T T 710 yeal & 3w
i

PxQ3IATA P, QT Uar g

P+Q3AfiqP, QA ThE

P+Q3UTAP, QFr gl g

P-Q3dP Qufdg

Q10.s¥sF M+ Nx O —P &, O, M ¥ fF¥ YR Gefia &7
(a) &S

(b) arATE

(c) foar

(d) 97

(e) $TH | IS TET
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Q11. GxT+Q+M &, M, G ¥ frH YR Hafra &2
(a) ATAT

(b) SgeT

(c) Teeir

(d) =

(e) SoTH & IS T
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Directions (12-13): fF=Ifaf@a ga= &1 ea=qda sreaas Y 3 weat & 3w i)
M,N,O,P,Q3#RRTF IRAR F 6 WeFq 81 Q, P FI YA, P A Q M ATAT AT 81 N, P
#1915 ¢ R 3R P v Raria gorar 81 0, RA G &, RIATM Hragar

Q12. IRER & frde #Afgen gew &2
(a)ar

(b) et

(c) I

(d) frenRa A& fohar ST aehar

(e) 37 & FIg oTel
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Q13.Q, O ¥ ¥ YR FFaftd &7
(a) ATAT

(b) T

(c) dget

(d) &g

(e) SoT8 & IS TgT
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Directions :(14-15) &Y 1§ TN FT CATTYASH LTI H{ I AT e 71w geaf & 31
afre-

P-Q AP, Q T Rar &

‘P+Q AP, Q T 98T &

P x Q' 37T ‘P, Q Y AT &

‘P+Q AP, Q T HIS &

Q14. AR # & a1 Tt gelar & f& ‘A, B F1 Awg 877
(aJA+C-BxK

() B+H-A+D

(c)B+G-A<+R

(A)B+TxA=+E

(e) $TH J Ig oTeT
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Q15. AT H T Sla-a1 ot g2far & & ‘P, J &1 dswhrex 772
(@)J+W-U-P

(b)PxG+]+A

(P-B=+J+R

(dP-T-]+S

(e) 318 & 15 =AgT
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Solutions

Solution (1-2):

S1. Ans.(e)

Sol. ] is the daughter of K and K is the father of L. So for M to be mother of ], M should be the
mother of L. Hence the question mark can be replaced by either x or +.

S2. Ans.(c)



Sol. Here L and N are husband and wife. M is their daughter, K is their son and ] is their
daughter-in-law. Hence only (c) is true.

Solutions (3-4):

S(-) V(+) X(+)
Y{-) 'T{+) U(-)
wt
Sol.
S3. Ans. (a)
S4. Ans. (b)

Solution (5-7)
S5.Ans (b)
B(-)

H(+)
A(+y——D

S6.Ans (d)
P(+)

T(+)

I(-)——5
S7.Ans (e)
B(-r——C(+)

R 5(+)
Solution (8-9):
S8. Ans.(b)
Sol.




P(+) =—=Z(-)

X(-) Tl(*-} N(-) K(-)
L
S9. Ans.(e)
Sol.
P(+) Z(-)
X(-) M(+) N(-) K
L

Solution (10-11):
S10. Ans. (a)
N(+)

M(-) 0(+)

S11. Ans. (c)
G(+—M(-)

P(-

T(-) Q(-)
Solution (12-13):
S12. Ans.(d)

S13. Ans.(d)

S14.Ans (b)
B(-)

H(+)

A(+y——D
S15.Ans. (d)

)(+)



P(+)

T(+)

I(-)—5



